
■ 次のたし算をしましょう。

① 429 + 551 = ⑭ 533 + 614 =

② 235 + 184 = ⑮ 614 + 170 =

③ 962 + 200 = ⑯ 464 + 597 =

④ 167 + 840 = ⑰ 524 + 398 =

⑤ 248 + 419 = ⑱ 818 + 744 =

⑥ 731 + 151 = ⑲ 175 + 500 =

⑦ 200 + 228 = ⑳ 646 + 613 =

⑧ 604 + 809 = ㉑ 885 + 296 =

⑨ 114 + 516 = ㉒ 499 + 526 =

⑩ 858 + 788 = ㉓ 322 + 584 =

⑪ 203 + 217 = ㉔ 881 + 347 =

⑫ 386 + 627 = ㉕ 289 + 433 =

⑬ 565 + 504 = ㉖ 679 + 711 =
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■ 次のたし算をしましょう。

① 429 + 551 = 980 ⑭ 533 + 614 = 1147

② 235 + 184 = 419 ⑮ 614 + 170 = 784

③ 962 + 200 = 1162 ⑯ 464 + 597 = 1061

④ 167 + 840 = 1007 ⑰ 524 + 398 = 922

⑤ 248 + 419 = 667 ⑱ 818 + 744 = 1562

⑥ 731 + 151 = 882 ⑲ 175 + 500 = 675

⑦ 200 + 228 = 428 ⑳ 646 + 613 = 1259

⑧ 604 + 809 = 1413 ㉑ 885 + 296 = 1181

⑨ 114 + 516 = 630 ㉒ 499 + 526 = 1025

⑩ 858 + 788 = 1646 ㉓ 322 + 584 = 906

⑪ 203 + 217 = 420 ㉔ 881 + 347 = 1228

⑫ 386 + 627 = 1013 ㉕ 289 + 433 = 722

⑬ 565 + 504 = 1069 ㉖ 679 + 711 = 1390

たし算の暗算
年 組 名前
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